1=1D: Distriouive  Rropecty

Distributive Propecty: muktiply across addition
- multiply each number inside parenthesis by the number oudside
the poventhesic

Ex!: Use he distribuhive property to write each
expression as an egivalent expression.

~
A Ylx+2)  R) (7+3y)10 ) -8(a )
tx +4(2) 10(7+2y) -8(a) +(-8)1)
Uy +Q 10(7) + 10(2y) =Ba + B <—not smplified
10 + 36 |-2a-8]
|30§ +’!o§

¥ standard form
(term with varialde

lisked Lirst)

E) -12-m)-Y) [)-(5n-9) * Think of x-Y as
-‘T(-jz\-’m) 'T(?n\"‘n X and a negaﬁw,l{.
-Y(-12) - (-Ym) -1(5n) - (-1Y4) Therefore,

4g - (-4m) -5n-(-9) - 2(x-Y)
4m +48 “2) and -2(-y)

]—Zx +8

HW: GA Y-1 Pachce WS (13-20)

D) - lole -2)

- lbe - (-1)(2)
-lbe -(-32)

!-lbL +27
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